MSCCH-02

June — Examination 2023
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CHEMISTRY
(Organic Chemistry)
Paper : MSCCH-02

Time : 3 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given

instructions.
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Section—-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (i) Define the Hofmann Rule.
A 799 SaET
(i1)) Give the example of Free Radical Addition
Reaction.
TR T AMToAeh  STIfhan w1 3]Te0T ST |
(ii1)) Explain Chirality with example.
foheeTdl b1 SETEXY Hfed THESU |
(iv) Discuss the Chemical Reaction of Carbene.
HET I qEEHE Afufwan saEe |
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(v) Define Chemical Shift in NMR Spectroscopy.
NMR EeRifafa # # q@@fte fatems = sdEu |
(vi) Draw the molecular orbitals of 1, 3-butadiene.
1, 3-butadiene & 3Tfvas wemhi w1 o I |

(vii) Which is aromatic Annulene [16] and [18]
annulene ? Why ?
[16] Tgfe qen [18] TafH & ¥ &M Whfes
T FRU A |

(viii) Which is more stable, singlet or triplet ?

T 3R B 4 9 g e @ g ?

Section-B 4x8=32

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries

8 marks.

MSCCH-02/7 (3) T-506 Turn Over

TUg—d

(g ST q99)

feor .- fo<l 9R weHAl & SW SIfSu MU o9 I Al
srfererae 200 gl H OfEifqa wifsw) e 99q

8 3% H T

. Explain the aromatic behaviour of phenanthrene

and draw their resonance structure.

frredi § Wafcdr =owR THsET ol STHT AR

Tl SAET |

. Explain the chemical reactivity of Tropylium Salt.

JdiferTm Tau &t qEEHE fhasiear qHemsy |

. What is NMR Spectroscopy and why is TMS a

good standard ?

NMR SRifafq s & g1 TMS Tk 371 wuse &
g ?
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. Why Pyridine gives electrophilic substitution

reaction of Position-3 ?

fuftfeq somReel gfaeam sfufean 3-feafa w ==
Telar & 2

. What 1s Neighbouring Group Participation ?

Explain with suitable examples.

TS WE URIfEURE # dar ¥ 7 See |fed
HHLATRT |

. Differentiate the Sy and Sy? reaction.

Sn! qen Sy? atfufsmen # s fafea

. Explain the conformation of Cyclohexane.

TEadledd & T&qU &) foar ¥ 99emEu|

. What is Saytzeff Rule ? Explain it with suitable

examples.

Hew fam &= § 7SS 9fed 9Hemsy |
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Section-C 2x16=32
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 16 marks.
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10. Explain the mechanism and stereochemistry of Sg!

and SE2 reactions with suitable examples.
Sp! e Sy wfufrn ® fefafy o ffew w@mm
1 St SR Wied HHEET |

11. Explain the principle of NMR Spectroscopy and
explain spin-spin splitting with suitable examples.
NMR @ifafa &1 fogma smee qo fom-fom
fafafar =1 Sfaa o § wwEmul
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12. Explain stereoselective and stereospecific reaction

with suitable examples.
3fea el wfea Bfaw faftrss o ffaw sxomers
AR =1 FHET |

13. Discuss optical activity in Spiranes, Allene and

Biphenyls.

TR, Told o SEhidad H Yehiees S feaar i

HHART |
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